Geometry:

Complementary angles add to 90
Supplementary angles add to 180
vertical angles are congruent

Linear pairs are supplementary

Alternate interior angles: 3&6,4 &5
Alternate exterior angles: 1& 7,2 &8
corresponding angles: 1&5,2&6,3 &8, 4&7

consecutive interior angles: 3& 5,4 & 6
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Biggest angle is opposite longest side

Smallest angle is opposite shortest side
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MAKE SURE YOUR ANSWER MAKES SENSE




An angle that intercepts a diameter is a right angle

Central angles equal the arc they intercept.

inscribed angles are half the measure of the

arc they intercept.

Area and Volume

Area B Volume Bl Volume %Bh

two bases the same comes {o a point
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